

HERMITE-HADAMARD INEQUALITIES FOR EXPONENTIAL TYPE HARMONICALLY $(\alpha, s)_h$ -CONVEX FUNCTIONS

K. I. Apanpa ^{[©] [∞]}, A. A. Mogbademu^[®], and J. O. Olaleru^[®]

Article type: Research Article

(Received: 15 June 2024, Received in revised form 05 November 2024) (Accepted: 22 November 2024, Published Online: 25 November 2024)

ABSTRACT. In this paper, the authors study and introduce some new integral forms of Hermite-Hadamard inequalities in the form of harmonically convex functions known as exponential type harmonically $(\alpha, s)_h$ -convex function. Additionally, several special characteristics of this class of functions are examined. More precisely, the authors provide some properties and characteristics related to the Hermite-Hdamard inequality for harmonically $(\alpha, s)_h$ -convex function, applications of this work with certain examples are made to establish results obtained.

Keywords: Hermite-Hadamard inequality, convex functions of the exponential kind, harmonically convex functions, and convex functions.

2020 MSC: 28C15, 28C20, 58C35, 46G12.

1. Introduction

Convex functions because of their fundamental applications in several branches of mathematics, has been studied by different researchers and generalized in different forms to Hermite-Hadamard inequalities. Their contributions to knowledge cannot be understated. A function $f: I \subseteq \mathbb{R} \longrightarrow \mathbb{R}$ is considered convex if and only if

(1)
$$f(\lambda x + (1 - \lambda)y)) \le \lambda f(x) + (1 - \lambda)f(y)$$

For every point $x, y \in I$, and $\lambda \in [0, 1]$,

Concave function, is a version of (1) that is reversed. Convex function is an important aspect of mathematics, especially to functional analysis and optimization. Numerous scholars have examined convexity theory in different forms and has been seen to have some significant connections with the theory of inequalities (see, [6 - 12]), few of the related inequalities to this are Hermite-Hadamard inequality, Hardy's inequality and Jensen's inequality. Hermite Hadamard inequality remains crucial and useful in studying convexity, this is stated as:

 \odot

(C) the Author(s)



[⊠] kemiapanpa@gmail.com, ORCID: 0000-0003-4615-194X https://doi.org/10.22103/jmmr.2024.23617.1668

Publisher: Shahid Bahonar University of Kerman

of Kerman

How to cite: K. I. Apanpa, A. A. Mogbademu, J. O. Olaleru, Hermite-Hadamard inequalities for exponential type harmonically $(\alpha, s)_h$ -convex functions, J. Mahani Math.

Res. 2025; 14(1): 473-489.

Let $f : I \subset \mathbb{R} \longrightarrow \mathbb{R}$ be a convex function defined on the interval I of all real numbers and $m, n \in I$ with m < n, then

(2)
$$f(\frac{m+n}{2}) \le \frac{1}{n-m} \int_m^n f(x) dx \le \frac{f(m) + f(n)}{2}$$

holds. Applications of Hermite Hadamard inequality is known in several new classes of convex functions, this has generated different achievements of Hermite Hadamard's inequalities in various forms. For instance, Ozcan and Butt introduced Hermite-Hadamard type inequalities for multiplicatively harmonic convex functions[10], Hermite-Hadamard inequalities for exponential type multiplicatively convex functions was established by Ozcan[11], Muhammad et al.[6] came up with some Hermite-Hadamard integral inequalities in multiplicative calculus, while Iscan[1] discovered the class of harmonically convex functions in which Hermite-Hadamard type inequalities for this class of functions are studied. Recently, convex functions was introduced to exponential functions by Mahir and Iscan[5] and this is called exponential type convexity and some related inequalities.

Based on the existing literature, we noted that exponential convex function is yet to be introduced to harmonically convex functions, hence, the questions: will all properties and theorems proved on all classess of exponential convex functions be satisfied by exponential harmonically convex function, can we get a new class of harmonically convex function that generalize all other classess of exponential functions? Therefore, this paper aimed at introducing a new class of exponential convex function called exponential type harmonically $(\alpha, s)_h$ convex function and established certain properties on some integral inequalities for this class of function as an answer to the raised questions. In order to show the existence of exponential functions on harmonically convex function, we related our results with existing results in literature. With the results obtained, we showed exponential type harmonically $(\alpha, s)_h$ - convex functions to possess all properties established by other classes of convex functions including exponential convex function. Necessary areas where this can be applied are equally given with example. The new concept of exponential function introduced can be linked to some areas under metric fixed point, the results obtained improved and generalized existing ones in literature.

We considered few basic concepts and results of harmonically convex functions necessary to this work.

Definition 1.1([1]) : Suppose $I \subset (0, \infty)$ to be a real interval, then the function $f: I \to \mathbb{R}$ is called harmonically convex function if

(3)
$$f(\frac{xy}{\lambda x + (1-\lambda)y}) \le \lambda f(y) + (1-\lambda)f(x)$$

for all $x, y \in I$ and $\lambda \in [0, 1]$.

Definition 1.2([2]): The function $f : I \subset (0, \infty) \to \mathbb{R}$ is called harmonically s-convex function in second sense, if

(4)
$$f(\frac{xy}{\lambda x + (1-\lambda)y}) \le \lambda^s f(y) + (1-\lambda)^s f(x)$$

and $s \in (0, 1]$, for all $x, y \in I$ and $\lambda \in [0, 1]$.

Definition 1.3([9]): The function $f : I \subset (0, \infty) \to \mathbb{R}$ is called harmonically s-convex function in first sense, if

(5)
$$f(\frac{xy}{\lambda x + (1-\lambda)y}) \le \lambda^s f(y) + (1-\lambda^s)f(x)$$

given $s \in [0,1]$ and for all $x, y \in I$ with $\lambda \in [0,1]$.

Definition 1.4([3]): The function $f : (0, z^*] \to \mathbb{R}$, is called harmonically (α, m) -convex function, if

(6)
$$f(\frac{mxy}{m\lambda x + (1-\lambda)y} \le f((\frac{\lambda}{y} + \frac{1-\lambda}{mx})^{-1}) \le \lambda^{\alpha} f(y) + m(1-\lambda^{\alpha})f(x)$$

for all $x, y \in (0, z^*]$, with $z^* > 0$ and $\lambda \in [0, 1]$. Where $m \in (0, 1], \alpha \in [0, 1]$ and $\lambda \in [0, 1]$.

Note that if m = 1 and $\alpha = s$ in Definition 1.4, the inequality (6) results to the definition of harmonically s-convex function in first sense.

Definition 1.5([4]): The function $f: I \subset (0, \infty) \to \mathbb{R}$ is called harmonically (α, s) -convex function, if

(7)
$$f(\frac{xy}{\lambda x + (1-\lambda)y}) = f((\frac{\lambda}{x} + \frac{1-\lambda}{y})^{-1}) \le \lambda^{\alpha s} f(x) + (1-\lambda^{\alpha})^{s} f(y)$$

such that for all $x, y \in (0, b^*]$, with $b^* < 0, \lambda \in [0, 1]$ and $\alpha \in [0, 1]$.

Definition 1.6([4]): The function $f : I \subset (0, \infty) \to \mathbb{R}$ is called harmonically P-function, if

(8)
$$f(\frac{xy}{\lambda x + (1-\lambda)y}) \le f(x) + f(y)$$

for all $x, y \in I$ and $\lambda \in [0, 1]$.

The following theorems and lemma are needed for our main results.

Theorem 1.7([1]) Suppose $f : I \subset (0, \infty) \longrightarrow \mathbb{R}$ to be harmonically convex and $m, n \in I$, where a < n. If $f \in L[m, n]$, then we have the following

inequalities to be satisfied:

(9)
$$f(\frac{2mn}{m+n}) \le \frac{mn}{n-m} \int_m^n \frac{f(x)}{x^2} dx \le \frac{f(m)+f(n)}{2}$$

Theorem 1.8([1]) Suppose $f: I \subset (0, \infty) \longrightarrow \mathbb{R}$ to be a differentiable function on $I^o, m, n \in I$ such that m < n and $f' \in L[m, n]$. If $\mid f' \mid^q$ is harmonically convex on [m, n] for $q \ge 1$, then we have

$$|\frac{f(m) + f(n)}{2} - \frac{mn}{n-m} \int_m^n \frac{f(x)}{x^2} dx|$$

$$\leq \frac{mn(n-m)}{2} \xi_1^{1-\frac{1}{q}} (\xi_2 |f'(m)|^q + \xi_3 |f'(n)|^q)^{\frac{1}{q}},$$

where

(10)

(11)
$$\xi_1 = \frac{1}{mn} - \frac{2}{(n-m)^2} \ln(\frac{(m+n)^2}{4mn})$$

$$\xi_2 = -\frac{1}{n(n-m)} + \frac{3m+n}{(n-m)^3} \ln(\frac{(m+n)^2}{4mn}),$$

and

(12)
$$\xi_3 = \frac{1}{m(n-m)} + \frac{3n+m}{(n-m)^3} \ln(\frac{(m+n)^2}{4mn}).$$

Theorem 1.9([1]). Suppose $f : I \subset (0,\infty) \longrightarrow \mathbb{R}$ to be a differentiable function defined on $I^0, a, b \in I$ such that m < n and $f' \in L[m, n]$. If $|f'|^q$ is harmonically convex on [m, n] for all p, q > 1 and $\frac{1}{p} + \frac{1}{q} = 1$. Then the following hold:

(13)
$$|\frac{f(m) + f(n)}{2} - \frac{mn}{n-m} \int_m^n \frac{f(x)}{x^2} dx|$$

$$\leq \frac{mn(n-m)}{2} \left(\frac{1}{p+1}\right)^{\frac{1}{p}} (\eta_1 |f'(m)|^q + \eta_2 |f'(n)|^q)^{\frac{1}{q}},$$

where

(14)
$$\eta_1 = \frac{m^{2-2q} + n^{1-2q}[(n-m)(1-2q) - m]}{2(n-m)^2(1-q)(1-2q)}$$

and

(15)
$$\eta_2 = \frac{n^{2-2q} - m^{1-2q}[(n-m)(1-2q) + m]}{2(n-m)^2(1-q)(1-2q)}.$$

477

Definition 1.10([13]). Assume f and g are two functions, if

(16)
$$(f(x) - f(y))(g(x) - g(y)) \ge 0$$

is satisfied for all $x, y \in \mathbb{R}$, then we called f and g similarly ordered functions.

Definition 1.11([14]). The function $f : I \subset \mathbb{R} \longrightarrow \mathbb{R}$ is called (α, s) -convex if for all $x, y \in I$, we have

(17)
$$f(\lambda x + (1 - \lambda)y) \le \lambda^{\alpha s} f(x) + (1 - \lambda^{\alpha})^{s} f(y)$$

and $\lambda \in (0, 1)$, where $s \in [-1, 1]$ and $\alpha \in (0, 1]$.

Lemma 1.12([1]). Suppose $f : I \subset (0, \infty) \longrightarrow \mathbb{R}$ to be a differentiable function on I^0 and $m, n \in I$ with m < n, if $f' \in L[m, n]$. Then

(18)
$$\frac{f(m) + f(n)}{2} - \frac{mn}{n-m} \int_m^n \frac{f(x)}{x^2} dx$$
$$= \frac{ab(n-m)}{2} \int_m^n \frac{1-2\lambda}{(\lambda n + (1-\lambda)m)^2} f'(\frac{mn}{\lambda n + (1-\lambda)m}) d\lambda.$$

2. Main Results

In this section, we relate harmonically convex function to exponential type harmonically $(\alpha, s)_h$ -convex function, we examined the questions raised above by proving some integral inequalities on the newly introduced class of exponential convex functions.

Definition 2.1. A nonnegative function $f : I \longrightarrow \mathbb{R}$ is said to be exponential type harmonically $(\alpha, s)_h$ -convex function, if

(19)
$$f(\frac{xy}{\lambda y + (1-\lambda)x}) = f(\frac{\lambda}{x} + \frac{1-\lambda}{y})^{-1}$$
$$\leq (e^{h(1-\lambda^{\alpha})^s} - 1)f(x) + (e^{h(\lambda^{\alpha})^s} - 1)f(y).$$

where $(\alpha, s) \in (0, 1]$, for all $x, y \in I$ and $h(\cdot) > 0, \lambda \in (0, 1)$. If definition (19) is reverse, then f is called exponential type harmonically $(\alpha, s)_h$ -concave functions.

Some noted remarks are :

On the condition $\frac{xy}{\lambda y + (1 - \lambda)x} \le \lambda x + (1 - \lambda)y$ and if h = I giving that

 $\lambda > \lambda^2$, $\lambda^2 \leq \lambda$ which implies $h(\lambda) = \lambda$, $\alpha = s = 1$ in inequality (19), then it becomes exponential type-convex function[5].

If $(e^{h(1-\lambda)} - 1) = 1$, $(e^{h(\lambda)} - 1) = 1$ and $\alpha = s = 1$ in equation (19), it result to the definition of harmonically P-convex function[4].

If $e^{h(\cdot)} = h(\cdot) + 1$, which implies $e^{h(\lambda^{\alpha})^s} - 1 = h(\lambda^{\alpha})^s$ in inequality (19), then it gives the definition of harmonically (α, s) -convex function[12].

The following proposition is useful :

Proposition 2.2. Let $f : I \subset [0, \infty) \longrightarrow \mathbb{R}$ be a mapping and I be the real interval,

(i) If f is (α, s) -convex or harmonically (α, s) -convex function, then f is exponential type harmonically $(\alpha, s)_h$ -convex function.

(ii) If f is exponential type harmonically $(\alpha, s)_h$ -convex and non increasing function, then f is harmonically (α, s) -convex and (α, s) -convex function.

Proof. For all $\lambda \in [0, 1]$ and $x, y \in I$, we have

(20)
$$e^{h(1-\lambda)h(\lambda)(x-y)^2} - 1 \ge 0.$$

The following inequality holds:

(21)
$$\frac{xy}{\lambda y + (1-\lambda)x} \le e^{h(\lambda)x + h(1-\lambda)y} - 1$$

with the stated inequality in (21) the proof is complete.

Remark 2.3. Every non decreasing harmonically (α, s) -convex function and non decreasing convex function is also exponential type harmonically $(\alpha, s)_h$ -convex function.

Example 2.4. The function $f: (0, \infty) \longrightarrow \mathbb{R}$, f(x) = x is a non decreasingconvex function and also harmonically α , s-convex function for $\alpha = 1 = s$, giving $e^{h(\lambda^{\alpha})s} - 1 = h(\lambda^{\alpha})^s$.

Proposition 2.5. Suppose f and g are exponential type harmonically (α, s) convex functions. If f and g are similarly ordered functions and $e^{h(\lambda^{\alpha})^s + h(1-\lambda^{\alpha})^s} \leq 1$ with $e^{h(\lambda^{\alpha})^s} - 1 \geq 0$, $e^{h(m)} + e^{h(n)} \geq 2$, then the product
fg is also exponential type harmonically $(\alpha, s)_h$ -convex function.

Proof. Let f and g be exponential type harmonically $(\alpha,s)_h\text{-convex}$ functions. Then

$$f(\frac{mn}{\lambda n + (1 - \lambda)m})g(\frac{mn}{\lambda n + (1 - \lambda)m})$$

$$\leq [(e^{h(\lambda^{\alpha})^{s}} - 1)f(m) + (e^{h(1 - \lambda^{\alpha})^{s}} - 1)f(n)]$$

$$\times [(e^{h(\lambda^{\alpha})^{s}} - 1)g(a) + (e^{h(1 - \lambda^{\alpha})^{s}} - 1)g(n)]$$

$$= [(e^{h(\lambda^{\alpha})^{s}} - 1)(e^{h(\lambda^{\alpha})^{s}} - 1)(f(m)g(m))]$$

$$+ (e^{h(\lambda^{\alpha})^{s}} - 1)(e^{h(1 - \lambda^{\alpha})^{s}} - 1)[f(m)g(n)]$$

$$+ (e^{h(1 - \lambda^{\alpha})^{s}} - 1)(e^{h(1 - \lambda^{\alpha})^{s}} - 1)[f(n)g(m)]$$

$$+ (e^{h(1 - \lambda^{\alpha})^{s}} - 1)(e^{h(1 - \lambda^{\alpha})^{s}} - 1)[f(n)g(n)]$$

and so

(23)

$$f(\frac{mn}{\lambda n + (1 - \lambda)m})g(\frac{mn}{\lambda n + (1 - \lambda)m})$$

$$\leq (e^{h(\lambda^{2\alpha})^s} - 1)[f(m)g(m)]$$

$$+ (e^{h(\lambda^{\alpha})^{s(h(1 - \lambda^{\alpha})^s}} - 1)[f(m)g(n)]$$

$$+ (e^{h(1 - \lambda^{\alpha})^{2s}} - 1)[f(n)g(m)]$$

$$+ (e^{h(1 - \lambda^{\alpha})^{2s}} - 1)[f(n)g(n)].$$

Taking common terms in the second and third term of inequalities (22) gives

$$\begin{split} f(\frac{mn}{\lambda n + (1-\lambda)m})g(\frac{mn}{\lambda n + (1-\lambda)m}) &\leq (e^{h(\lambda^{2\alpha})^s} - 1)[f(m)g(m)] \\ &+ (e^{h(\lambda^{\alpha})^{s(h(1-\lambda^{\alpha}))^s}} - 1)[f(m)g(m)] \\ &+ (e^{h(1-\lambda^{\alpha})^{s}h(\lambda^{\alpha})^s} - 1)[f(n)g(n)] \\ &+ (e^{h(1-\lambda^{\alpha})^{2s}} - 1)[f(n)g(n)] \\ &= (e^{h(\lambda^{\alpha})^s} - 1)[f(m)g(m)] \\ &+ (e^{h(1-\lambda^{\alpha})^s} - 1)[f(n)g(n)][(e^{h(\lambda^{\alpha})^s} - 1) \\ &+ (e^{h(1-\lambda^{\alpha})^s} - 1)] \end{split}$$

This gives ;

$$f(\frac{mn}{\lambda n + (1-\lambda)m})g(\frac{mn}{\lambda n + (1-\lambda)m}) = (e^{h(\lambda^{\alpha})^s} - 1)[f(m)g(m) + (e^{h(1-\lambda^{\alpha})^s} - 1)(f(m)g(n))].$$

Hence the proof.

Proposition 2.6. Suppose $f : [m, n] \subset (0, \infty) \longrightarrow \mathbb{R}$ and $g : [\frac{1}{n}, \frac{1}{m}] \longrightarrow \mathbb{R}$ are defined as $g(x) = \frac{1}{x}$ then f is exponential type harmonically $(\alpha, s)_h$ -convex on [m, n], where $\alpha \in (0, 1]$, $h(\cdot) > 0, s \in [0, 1]$ if and only if g is harmonically (α, s) -convex on $[\frac{1}{n}, \frac{1}{m}]$ Proof : Taking $x = \frac{1}{q}$ and $y = \frac{1}{p}$ we have

$$\begin{split} f(\frac{1}{\frac{\lambda}{q} + \frac{(1-\lambda)}{p}}) &= f(\frac{1}{\lambda\frac{1}{q} + (1-\lambda)\frac{1}{p}}) \\ &= f((\frac{\lambda}{q} + \frac{(1-\lambda)}{p})^{-1}) \\ &= (\lambda f(q) + (1-\lambda)f(p). \end{split}$$

f giving as exponential type harmonically $(\alpha, s)_h$ -convex function, implies

(24)
$$f(\frac{1}{\frac{\lambda}{q} + \frac{(1-\lambda)}{p}}) \leq (e^{h(\lambda^{\alpha})^s} - 1)f(q) + (e^{h(1-\lambda^{\alpha})^s} - 1)f(p).$$

Following suitable composition of f and g, results to

$$(25)^{f}(\frac{1}{\frac{\lambda}{q} + \frac{(1-\lambda)}{p}}) = (e^{h(\lambda^{\alpha})^{s}} - 1)(fog)(x) + (e^{h(1-\lambda^{\alpha})^{s}} - 1)(fog)(y)$$

for all $x, y \in [\frac{1}{n}, \frac{1}{m}]$, $\lambda \in [0, 1]$, where $q, p \in [m, n]$.

This justified the necessary condition, to validate the sufficient condition;

for all $x,y\in[m,n]$ and $\lambda\in[0,1]$, we have,

(26)
$$f(\frac{\lambda}{x} + \frac{(1-\lambda)}{y})^{-1} = (fog)(\lambda \frac{1}{x} + (1-\lambda)\frac{1}{y})$$

481

Since f is exponential type harmonically $(\alpha, s)_h$ -convex, inequality (26) results to;

(27)
$$f(\frac{\lambda}{x} + \frac{(1-\lambda)}{y})^{-1} = (e^{h(\lambda^{\alpha})^s} - 1)f(x) + (e^{h(1-\lambda^{\alpha})^s} - 1)f(y)$$

hence the proof is complete.

Now we consider the following:

Theorem 2.7 Suppose $f: I \longrightarrow \mathbb{R}$ is exponential harmonically $(\alpha, s)_h$ -convex with $\alpha \in (0, 1]$. If $0 < m < \infty$ and $f \in L[m, n]$, where $h(\cdot) > 0$. Then

$$(\frac{28)}{n-m} \int_m^n \frac{f(x)}{x^2} dx \le \frac{f(m+f(n))}{2} [\int_m^n (e^{h(\lambda^{\alpha})^s} - 1) + (e^{h(1-\lambda^{\alpha})^s} - 1)] d\lambda$$

Proof.

Since f is exponential type harmonically $(\alpha, s)_h$ -convex, we have for all $x, y \in I$

(29)
$$f(\frac{mn}{\lambda n + (1 - \lambda)m}) \le (e^{h(\lambda^{\alpha})^s} - 1)f(m) + (e^{h(1 - \lambda^{\alpha})^s} - 1)f(n)$$

and

(30)
$$f(\frac{mn}{\lambda m + (1-\lambda)n}) \le (e^{h(\lambda^{\alpha})^s} - 1)f(n) + (e^{h(1-\lambda^{\alpha})^s} - 1)f(m)$$

for all $\lambda \in [0, 1]$, by addition of inequalities (29) and (30), we obtain;

(31)
$$f(\frac{mn}{\lambda n + (1-\lambda)m}) + f(\frac{mn}{\lambda m + (1-\lambda)n})$$

$$\leq [f(m) + f(n)](e^{h(\lambda^{\alpha})^{s}} - 1) + (e^{h(1 - \lambda^{\alpha})^{s}} - 1)$$

integrating inequality (31) on [0, 1], gives;

$$\int_0^1 (f(\frac{mn}{\lambda n + (1-\lambda)m})d\lambda + f(\frac{mn}{\lambda m + (1-\lambda)n})d\lambda$$
$$\leq [f(m) + f(n)]\int_m^n [(e^{h(\lambda^{\alpha})^s} - 1) + (e^{h(1-\lambda^{\alpha})^s} - 1)]$$

this further implies;

$$(32)_{n-m}^{mn} \int_{m}^{n} \frac{f(x)}{x^{2}} dx \le \frac{f(m) + f(n)}{2} \int_{0}^{1} [e^{h(\lambda^{\alpha})^{s}} - 1) + (e^{h(1 - \lambda^{\alpha})^{s}} - 1)] d\lambda$$
This gives the require results

This gives the require results.

Remark 2.8

(1) If $\alpha = s = 1$ and $(e^{h(\lambda^{\alpha})^s} - 1) = h(\lambda^{\alpha})^s$ in Theorem 2.7, inequality (28) then gives the right hand side of inequality (2);

(2) If s = 0 in Theorem 2.7, inequality(28) then yields the following results

(3) If $e^{h(m)} = h(m) + 1$, which implies $e^{h(\lambda^{\alpha})^s} - 1 = h(\lambda^{\alpha})^s$ in Theorem 2.8, inequality (28) gives the result obtained in harmonically (α, s) -convex function[12].

Corollary 2.9

Let $f: L \longrightarrow \mathbb{R}$ be harmonically P-function where $m, n \in I, m < n$ and $f \in L[m, n]$. Then

(33)
$$\frac{mn}{n-m}\int_m^n \frac{f(x)}{x^2}dx \le f(m) + f(n).$$

Theorem 2.10 Suppose $f, g : I \longrightarrow \mathbb{R}$ are exponential type harmonically $(\alpha, s)_h$ -convex functions, where $m, n \in I, m < n, \alpha \in (0, 1]$, with $h(\cdot) > 0$, $s \in [0, 1]$ and $e^{h(\lambda^{\alpha})^s + h(1-\lambda)^{\alpha}} \leq 1$, $e^{h(m)} + e^{h(n)} \geq 2$. Let $fg \in L[m, n]$, then

(34)
$$\frac{mn}{n-m} \int_{m}^{n} (\frac{f(x)g(x)}{x^2}) dx \le \phi_1 \rho_1 + \phi_2 \rho_2 + \phi_3 \rho_3$$

where

$$\phi_1 = f(m)g(m),$$

(35)
$$\phi_2 = f(n)g(n),$$

$$\phi_3 = f(m)g(n) + f(n)g(m),$$

and

(36)

$$\rho_1 = \int_m^n (e^{h(\lambda^{2\alpha})^s} - 1) d\lambda$$

$$\rho_2 = \int_m^n (e^{h(1-\lambda^{\alpha})^{2s}} - 1) d\lambda$$

$$\rho_3 = \int_m^n (e^{h(\lambda^{\alpha})^s h(1-\lambda^{\alpha})^s} - 1).$$

Proof. Let $f,g:I\longrightarrow\mathbb{R}$ be exponential type harmonically $(\alpha,s)_h$ -convex functions, it follows that

$$\begin{split} &\frac{mn}{n-m} \int_m^n (\frac{f(x)g(x)}{x^2}) dx = \int_0^1 f(\frac{xy}{\lambda y + (1-\lambda)x}) g(\frac{xy}{\lambda y + (1-\lambda)x}) d\lambda \\ &\leq [(e^{h(\lambda^\alpha)^s} - 1)f(m) + (e^{h(1-\lambda^\alpha)^s} - 1)f(n)] \\ &\times [(e^{h(\lambda^\alpha)^s} - 1)g(m) \\ &+ (e^{h(1-\lambda^\alpha)^s} - 1)g(n)] \end{split}$$

Taking the Integral on interval [0, 1] gives;

$$\begin{split} &\frac{mn}{n-m} \int_m^n (\frac{f(x)g(x)}{x^2}) dx \le \int_0^1 [(e^{h(\lambda^{\alpha})^s} - 1)f(m) + (e^{h(1-\lambda^{\alpha})^s} - 1)f(n)] \\ &\times [(e^{h(\lambda^{\alpha})^s} - 1)g(m) + (e^{h(1-\lambda^{\alpha})^s} - 1)g(n)] d\lambda \\ &= \int_0^1 (e^{h(\lambda^{2\alpha})^s} - 1)f(m)g(m) + (e^{h(1-\lambda^{\alpha})^{2s}} - 1)f(n)g(n) \\ &+ (e^{h(\lambda^{\alpha})^s h(1-\lambda^{\alpha})^s} - 1)[f(m)g(n) + f(n)g(m)] d\lambda \\ &= \phi_1 \int_0^1 (e^{h(\lambda^{2\alpha})^s} - 1) d\lambda + \phi_2 \int_0^1 (e^{h(1-\lambda^{\alpha})^{2s}} - 1) d\lambda \\ &+ \phi_3 \int_0^1 (e^{h(\lambda^{\alpha})^s h(1-\lambda^{\alpha})^s} - 1) d\lambda \end{split}$$

so therefore, we have

(37)
$$\frac{mn}{n-m} \int_{m}^{n} (\frac{f(x)g(x)}{x^2}) dx = \phi_1 \rho_1 + \phi_2 \rho_2 + \phi_3 \rho_3.$$

Hence the proof is complete.

Remark 2.11 If $e^{h(m)} = h(m) + 1$, which implies $e^{h(\lambda^{\alpha})^s} - 1 = h(\lambda^{\alpha})^s$ in Theorem (2.10), inequality (34) gives the result for harmonically (α, s) -convex function[12].

Theorem 2.12 Suppose $f, g: I \longrightarrow \mathbb{R}$ is exponential type harmonically $(\alpha, s)_h$ convex functions such that f and g are similarly ordered functions and

$$\int_0^1 (e^{h(\lambda^{\alpha})^s} - 1) + (e^{h(1-\lambda^{\alpha})^s} - 1) \le 1, \ (e^{h(\lambda^{\alpha})^s} - 1) \ge 0, h(\cdot) > 0 \text{ then},$$

(38)
$$\frac{mn}{n-m} \int_{m}^{n} (\frac{f(x)g(x)}{x^2}) dx \le \phi_1 \nu_1 + \phi_2 \nu_2$$

where ϕ_1 and ϕ_2 are giving by (35) and

(39)

$$\nu_{1} = \int_{0}^{1} (e^{h(\lambda^{\alpha})^{s}} - 1) d\lambda$$

$$\nu_{2} = \int_{0}^{1} (e^{h(1-\lambda^{\alpha})^{s}} - 1) d\lambda.$$

Proof. Since f and g are exponential type harmonically $(\alpha, s)_h$ -convex and both are similarly ordered functions, we have for all $x, y \in I$

$$\begin{aligned} \frac{mn}{n-m} \int_{m}^{n} (\frac{f(x)g(x)}{x^{2}}) dx &= \int_{0}^{1} f(\frac{xy}{\lambda y + (1-\lambda)x}g(\frac{xy}{\lambda y + (1-\lambda)x})) d\lambda \\ ^{(40)} &\leq \int_{0}^{1} [(e^{h(\lambda^{\alpha})^{s}} - 1)f(m) + (e^{h(1-\lambda^{\alpha})^{s}} - 1)f(n)] [(e^{h(\lambda^{\alpha})^{s}} - 1)g(m) \\ &+ (e^{h(1-\lambda^{\alpha})^{s}} - 1)g(n)] d\lambda \\ &\qquad \frac{mn}{n-m} \int_{m}^{n} (\frac{f(x)g(x)}{x^{2}}) dx = \int_{0}^{1} [(e^{h(\lambda^{\alpha})^{s}} - 1)f(m)g(m) \\ &+ (e^{h(1-\lambda^{\alpha})^{s}}) - 1)f(n)g(n) [(e^{h(\lambda^{\alpha})^{s}} - 1) + (e^{h(1-\lambda^{\alpha})^{s}} - 1)] \\ &\leq \int_{0}^{1} (e^{h(\lambda^{\alpha})^{s}} - 1)f(m)g(m) + (e^{h(1-\lambda^{\alpha})^{s}}) - 1)f(n)g(n) \\ &\leq \int_{0}^{1} [(e^{h(\lambda^{\alpha})^{s}} - 1)\phi_{1} + (e^{h(1-\lambda^{\alpha})^{s}}) - 1)\phi_{2} \end{aligned}$$

thus, we have

(42)
$$\frac{mn}{n-m} \int_0^1 (\frac{f(x)g(x)}{x^2}) dx \le \phi_1 \nu_1 + \phi_2 \nu_2$$

which is the required results.

Theorem 2.13. Suppose $f: I \longrightarrow \mathbb{R}$ to be a differential function on $I^0, m, n \in I$ with m < n and $f' \in L[m, n]$. If $|f'|^q$ is exponential type harmonically $(\alpha, s)_h$ -convex functions on [m, n] for $q \ge 1$, with $\alpha \in (0, 1], h(\cdot) > 0$ and $s \in [0, 1]$. Then

(43)
$$|\frac{f(m) + f(n)}{2} - \frac{mn}{n-m} \int_m^n \frac{f(x)}{x^2} dx|$$

$$\leq \frac{mn(n-m)}{2} \xi_1^{1-\frac{1}{q}} [\chi_1|F'(m)|^q + \chi_2|F'(n)|^q]^{\frac{1}{q}}.$$

where

(44)
$$\xi_1 = \frac{1}{mn} - \frac{2}{(n-m)^2} \ln \frac{(m+n)^2}{4mn}$$

and

(45)

$$\chi_1 \quad = \quad \int_0^1 \frac{|1-2\lambda|(e^{h(\lambda^{\alpha})^s}-1)}{(\lambda n+(1-\lambda)m)^2} d\lambda$$

$$\chi_2 =$$

$$_{2} = \int_{0}^{1} \frac{|1 - 2\lambda| (e^{h(1 - \lambda^{\alpha})^{s}} - 1)}{(\lambda n + (1 - \lambda)m)^{2}} d\lambda.$$

Proof. Since $|F'|^q$ is exponential type harmonically $(\alpha, s)_h$ -convex function, by appropriate use of Lemma 1.12 and power mean inequality, we obtain

$$\begin{aligned} |\frac{f(m+f(n))}{2} - \frac{mn}{n-a} \int_n^b \frac{f(x)}{x^2}| \\ &\leq \frac{mn(n-m)}{2} \int_0^1 |\frac{1-2\lambda}{(\lambda n+(1-\lambda m)^2)}| |f'(\frac{mn}{\lambda n+(1-\lambda)m})| d\lambda \\ &\leq \frac{mn(n-m)}{2} (\int_0^1 |\frac{1-2\lambda}{(\lambda n+(1-\lambda)m)^2}| d\lambda)^{1-\frac{1}{q}} \\ &\times (\int_0^1 |\frac{1-2\lambda}{(\lambda n+(1-\lambda)m)^2}| |f'(\frac{mn}{\lambda n+(1-\lambda)m})|^q d\lambda)^{\frac{1}{q}} \end{aligned}$$

since $|f'|^q$ is exponential type harmonically $(\alpha, s)_h$ -convex, we have

$$\begin{aligned} |\frac{f(m+f(n))}{2} - \frac{mn}{n-m} \int_m^n \frac{f(x)}{x^2}| \\ &\leq \frac{mn(n-m)}{2} (\int_0^1 |\frac{1-2\lambda}{(\lambda n+(1-\lambda)m)^2} |d\lambda|^{1-\frac{1}{q}} \\ (46) \\ (\frac{|1-2\lambda}{(\lambda n+(1-\lambda)m)^2} [(e^{h(\lambda^{\alpha})^s} - 1)|f'(m)|^q + (e^{h(1-\lambda^{\alpha})^s} - 1)|f'(n)|^q] d\lambda)^{\frac{1}{q}} \\ &= \frac{mn(n-m)}{2} \xi_1^{1-\frac{1}{q}} [\chi_1|f'(m)|^q + \chi_2|f'(n)|^q]^{\frac{1}{q}}. \end{aligned}$$

hence the proof.

Corollary 2.14 Following the stated conditions in Theorem (2.13), if we take q = 1 then the results becomes

$$|\frac{f(m+f(n))}{2} - \frac{mn}{n-m} \int_m^n \frac{f(x)}{x^2} dx| \le \frac{mn(n-m)}{2} (\Theta_1 |f'(m)| + \Theta_2 |f'(n)|)$$
 where

where

(48)

$$\Theta_1 = \int_0^1 \frac{|1-2\lambda|(e^{h(\lambda^{\alpha})^s}-1)}{(\lambda n + (1-\lambda)m)^2} d\lambda$$

$$\Theta_2 \quad = \quad \int_0^1 \frac{|1-2\lambda|(e^{h(1-\lambda^{\alpha})^s}-1)}{(\lambda n+(1-\lambda)m)^2} d\lambda.$$

Remark 2.15

(1) Taking $\alpha = s = 1$ and $e^{h(m)} = h(m) + 1$, which implies $e^{h(\lambda^{\alpha})^s} - 1 = h(\lambda^{\alpha})^s$

in Theorem 2.13, inequality (43) results to inequality (10) of Theorem 1.8 but in this case we won't only be having ξ_1 but both ξ_1 and ξ_2 .

(2) If $\alpha = 1$ and $e^{h(\lambda^{\alpha})^s} - 1 = h(\lambda^{\alpha})^s$ in Theorem 2.13, then the results for harmonically s-convex functions in second sense will be obtain.

(3) If $e^{h(m)} = h(m) + 1$, which implies $e^{h(\lambda^{\alpha})^s} - 1 = h(\lambda^{\alpha})^s$ in Theorem 2.13, inequality (43) gives the result for harmonically (α, s) -convex function[12].

Corollary 2.16

Suppose $f: I \longrightarrow \mathbb{R}$ to be a differentiable function on $I^0, m, n \in I$ with m < n and $f' \in L[m, n]$. If $|f'|^q$ is harmonically s-convex function in second sense on [m, n] for q > 1, then

$$\left|\frac{f(m)+f(n)}{2}-\frac{mn}{n-m}\int_m^n\frac{f(x)}{x^2}dx\right|$$

(49)

$$\leq \frac{mn(n-m)}{2} \xi_1^{1-\frac{1}{q}} \zeta_1 |f'(m)|^q + \zeta_2 |f'(n)|^q$$

where

$$\zeta_1 = \int_0^1 \frac{|1-2\lambda|(e^{h(\lambda)^s}-1)}{(\lambda n + (1-\lambda)m)^2} d\lambda$$

(50)

$$\zeta_2 = \int_0^1 \frac{|1 - 2\lambda| (e^{h(1 - \lambda)^s} - 1)}{(\lambda n + (1 - \lambda)m)^2} d\lambda$$

and ξ_1 is given in (44).

3. Applications

First, we give an illustration of the Hermite-Hadamard inequality for exponential functions.

If f = exp, the Hermite-Hadamard inequality defined in (2) results to;

$$e^{\frac{h((m+n)^{\alpha})^{s}}{2}} < \frac{e^{h((n)^{\alpha})^{s}} - e^{h((m)^{\alpha})^{s}}}{n-m} < \frac{e^{h((m)^{\alpha})^{s}} + e^{h((n)^{\alpha})^{s}}}{2}, \ m \neq n \in \mathbb{R} \text{ and } h(\cdot) > 0$$

that is,

- ...

$$\sqrt{mn} < \frac{m-n}{\log m - \log n} < \frac{m+n}{2}, \ m \neq n \in (0,\infty).$$

Some applications of this work to special means are;

(1) The generalized logarithmic mean:

(51)
$$L_m = L_m(x, y) = \left[\frac{y^{m+1} - x^{m+1}}{(m+1)(y-x)}\right] \frac{1}{m}, \ m \in \mathbb{R}\{-1, 0\}.$$

(2) The logarithmic mean:

(52)
$$M = M(x, y) = \frac{y - x}{\ln y - \ln u}$$

(3) The harmonic mean

(53)
$$M = M(a,b) = \frac{2ab}{a+b}, \ a,b > 0$$

Proposition 2.17. If 0 < x < y, q > 1, such that $s \in (0,1)$ and $h(\cdot) > 0$. Then,

$$|M(m^{h(s/q+1)}, n^{h(s/q+1)}) - K^2 L_{h(s/q-1)}^{h(s/q-1)}| \\ \leq \frac{mn(n-m)(s+q)}{2q} \xi_1^{1-\frac{1}{q}} (\varsigma_1 m^{h(s)} + \varsigma_2 n^{h(s)})^{\frac{1}{q}}$$

Proof. It easily follows from inequality (49) of corollary 2.16,

for: $(0,\infty) \to \mathbb{R}$, $f(a) = a^{\frac{s}{q+1}}/(\frac{s}{q+1})$. where ξ_1, ζ_1 and ζ_2 are as seen in (44) and (50).

Proposition 2.18. Let $a, b \in (0, 1]$, such that a < b. Then, it follows that

$$2(e^{h(\lambda^{\alpha})^{s}} - 2) \ln M(a, b) \le \ln I(a, b) \le \frac{\ln G(a, b)}{2(\sqrt{e^{h(\lambda^{\alpha})^{s}}} - 1)}$$

hold.

Proof. This follows from inequalities (28) for the function

 $f(x) = -\ln x, \ a \in (0,1] \ \text{and} \ h(\cdot) > 0$

4. Conclusion

This paper introduced new class of exponential function, called exponential type harmonically $(\alpha, s)_h$ -convex function. Although, the Hermite-Hadamard inequalities had been generalized in many areas of convex function, the results obtained here generalized and improved some known results in literature in terms of exponential convex function, particularly some results obtained in harmonically (α, s) -convex function, we studied some new results of Hermite-Hadamard type on this class of function. Necessary applications were made to

certain special means. As a result of some future studies, the newly introduced concept could be linked to mathematical modelling, in the context of functions, exponential decay, and exponential growth. We look forward to seeing interested researchers make application of this to some areas of analysis, like, fixed point theory, under the study of convex metric, in analyzing the relationship between convex metric space and exponential convex metric space. It is important to note that, exponential type harmonically $(\alpha, s)_h$ -convex function possesses distinct properties that harmonically (α, s) -convex function and other classes of convex functions have.

5. Funding

The authors certify that no financial supports were received for the publication of this article.

6. Aknowledgement

The authors sincerely appreciate the reviewers for their thoughtful comments and detail suggestions given to the improvement of this paper.

7. Conflicts of Interest.

The authors declare no conflicts of interest.

References

- [1] Iscan, I. (2014). Hermite Hadamard type of inequalities for harmonically convex functions. Hacettepe Journal of Mathematics and Statistics, 2(43), 935-942.
- [2] Iscan, I. (2015). Ostrowski type inequalities for harmonically s-convex functions. Konuralp Journal of Mathematicics, 1(3), 63-74.
- [3] Iscan, I. (2016). Hermite-Hadamard type inequalities for harmonically (α, m) -convex functions. Hacettepe Journal of Mathematics and Statistics, 2(45), 381-390.
- [4] Iscan, I. Numan, S. and Bekar, K. (2014). Hermite-Hadamard and Simpson type inequalities for differentiable harmonically p-convex functions. British Journal of Mathematics and Computer Science, 14 (4), 1908-1920.
- Kadakal M., and Iscan, I. (2020). Exponential type convexity and some related inequalities. J. Inequal Appl, 1 (82), 1. https://doi.org/10.1186/s13660-020-02349-1
- [6] Muhammad, A.A., Mujahid, A, and Azhar, A.Z. (2019). On some Hermite-Hadamard integral inequalities in multiplicative calculus. Journal of Applied and Engineering, 10, 111-122.
- [7] Niculescu, C.P. (2000). Convexity according to the geometric mean. Mathematical Inequalities and Applications, 2(3), 155-167.
- [8] Niculescu, C. P., and Persson, L.E. (2018). Convex Functions and Their Applications. Springer-Verlag. New York.
- [9] Noor, MA., Noor, KI, Awan, MU., and Costache, S (2015). Some integral inequalities for harmonically h-convex functions. Politehnica University of Bucharest. Scientific Bulletin. Series A. Applied Mathematicis and Physices, 1(77), 5-16.

- [10] Ozcan, S., and Butt, S. (2023). Hermite-Hadamard type inequalities for Multiplicatively harmonic Convex Functions. J Inequal Appl, 120 (2023), 1-18. https://doi.org/10.1186/s13660-023-03020-1.
- [11] Ozcan, S. (2023). Hermite Hadamard type inequalities for exponential type multiplicatively convex functions. University of Nis, Serbia, 37(28), 9777-9789. https://doi.org/10.2298/FIL23287770.
- [12] Ozcan, S. (2019). Some Integral Inequalities for Harmonically (α, s) -Convex Functions. Journal of Function Spaces, 1-8. doi:10.1155/2019/2394021
- [13] Varosanee, S. (2007). On h-convexity. Journal of Mathematical Analysis and Applications, 1 (326), 303-311.
- [14] Yan Xi, B., Dan-Dan G, Feng Qi. (2020). Integral inequalities of Hermite-Hadamard type for (α, s) – convex and (α, s, m)-convex functions. Italian Journal of Pure and Applied Mathematics, 44, 499-510. hal-01761678v2, 2020.

KEMI IYABO APANPA ORCID NUMBER: 0000-0003-4615-194X DEPARTMENT OF MATHEMATICS UNIVERSITY OF JOS JOS, NIGERIA *Email address*: kemiapanpa@gmail.com

Adesanmi Alao Mogbademu Orcid number: 0000-0002-9978-2043 Department of Mathematics University of Lagos Lagos, Nigeria *Email address*: amogbademu@unilag.edu.ng

Johnson Olajire Olaleru Orcid number: 0000-0002-9271-6262 Department of Mathematics University of Lagos Lagos, Nigeria *Email address*: jolaleru@unilag.edu.ng